
Let 𝑃 be the asked size in pt, and 𝐴𝑢 = 𝐶𝑢𝑃, where 𝑢 is the
designed unit, pt, bp, or dd, and

𝐶pt = 1, 𝐶bp =
7200
7227
, 𝐶dd =

1157
1238

That is, 𝐴𝑢 is the asked size in the desired unit. Let 𝐷 be the de-
sign size (assumed to be in the unit of bp) as reported by the font
(divided by 10; in all the following we ignore the factor 216).

For simplicity, consider only the case of exact match to the
design size. That is, we would like to have 𝐴𝑢 = 𝐷. Let 𝐴′𝑢 = 𝛼𝑢𝑃
and 𝐷′ = 𝛽𝐷 be the scaled values used in comparisons. For the
comparison to work correctly, we need,

𝐴𝑢 = 𝐷 ⟺ 𝐴′𝑢 = 𝐷′,

and thus 𝛼𝑢 = 𝛽𝐶𝑢. The fix in pr 400 is the case of 𝛽 = 1. The fix
for review is 𝛽 = 7227/7200, and the value of 𝛼𝑢 is thus correct for
pt, bp, but not for dd.
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